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1. (a) W% Teq AR Sfere Ix4=4
Choose the correct answer :
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J. B. Watson is regarded as the
founder of the school of

Behaviourism / Gestaltism /
Psychoanalysis.
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(b) &t MR FF A 1x4=4
Fill in the blanks :
() oo AR % SR SAE AT
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Interest is latent attention and
attention is interest in —.

«personality’ *FCb! (Ao SRR ——
g o Befe (xR

The word ‘personality’ is derived
from the Latin word —.
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The two factors that determine
the personality of an individual

are heredity and —.

(iii)
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The children who deviate from

the average or the normal
children are called — children.
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Write short notes on the following :

() SeRcee
Psychoanalysis

(b) Frer o
Nature of leai'ning
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What i i Psychology? Discuss
Educational
th a;CCI:pe of Educational Psychology.
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do you mean by learning? Explain
What 4o
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Goroers Racg 3 3901 3+7=10
What is meant by adjustment
mechanism? Describe any two
adjustment mechanisms.
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Who are considered as gifted children?
What are the characteristics of the gifted

children?
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